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Διατομές

POB TS2 CC2 ST2 1 2 3 4 5 6 7 8 9 10 11 12 TS3 CC3 ST3 13 14 15 TS4 CC4 ST4 16 17 18 19 20 TS5 TS6 CC6 ST6 21 22 POE

Αποστάσεις μεταξύ
7.02 6.64 6.65 20 20 20 20 20 20 20 20 20 20 20 20 12.27 15.19 15.19 20 20 19.29 10.68 15.06 14.58 20 20 20 20 20 15.88 20.07 12.85 12.85 20 20 8.72
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Χιλιομέτρηση
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ΕΡΓΟ :

ΘΕΣΗ ΕΡΓΟΥ :

ΘΕΜΑ ΣΧΕΔΙΟΥ :

ΚΛΙΜΑΚΑ :

ΗΜΕΡΟΜΗΝΙΑ :

Ο ΣΥΝΤΑΞΑΣ : ΘΕΩΡΗΘΗΚΕ :

ΚΛΙΜΑΚΑ  ΥΨΩΝ   1 : 1 0 0
ΚΛΙΜΑΚΑ   ΜΗΚΩΝ  1 : 1 0 0 0

ΠΕΡΙΦΕΡΕΙΑΚΗ ΕΝΟΤΗΤΑ ΚΑΡΔΙΤΣΑΣ
ΔΗΜΟΣ ΚΑΡΔΙΤΣΑΣ

ΕΛΛΗΝΙΚΗ ΔΗΜΟΚΡΑΤΙΑ
ΠΕΡΙΦΕΡΕΙΑ ΘΕΣΣΑΛΙΑΣ
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